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Evaluate ;
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and hence evaluate it.
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All questions are compu'lsory,‘Attempt any fwo parts

of each Unit. All questions carry equal marks.
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Ewaluate :

2V (3 (a4}  fne1Y
,3.‘3;{(7} 3) = ")J
g sy fo aoft -
1+i+ 2°x? + Eita
oz 3
A & W ARy s

Prove that the series :
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Test for convergence and absolute convergence of
series :
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Test for continuity of the following functionatx =0 :
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State and prove Cauchy mean value theorem.
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Verify Lagrange’s mean value theorem for the

function :
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in the interval [2, 4].
TPE—3
(UNIT—3)

o x
u = xsm a0

\y
a Rig A 5 -

(A-51) P.T. O.



[4] DD-2708

PONOS 1 i o
U = XSIn —
y

If:

-then prove that ;
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Transform the equation :
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by substitution tan z = ¢*.

x = g cosh o cos

y =asinh o sin

Linl)) -[cosh 20 ~ cos 28]
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If:
x = acosh o cos B
y=asinha sin

then shqu' that :
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(UNIT=4)
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ax sec o, —by.c posec;oc = a2 = b2
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Find the enve]ope of the fainly of llnes

ax sec o — bycoseca = a2 b:Z

‘where the parameter is the anglea. T

Find the evolute of the hyperbola 2xy =a2
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Find the maxima- and mmlma value of the function

u = x? + y? + z2 using the conditions: .-
ax? + by? + ¢z? =1

and Ix+my+nz=0.
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